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Ve AL RN

EFRAS R RS
2018 &£ 9 H
YE& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.038 0.006 &
LA i 1.512 0.000 — 0.662 0.075 =
/L4, (HCI) 4,545 0.020 — 0.239 0.098 =
mIbE (HF) 0.306 0.009 — 0.084 0.032 =
— &b (SO2) 15.147 0.081 — 4.066 2.432 =
—4& kbR (CO) 7.578 0.001-0.110 0.045 =
FALY) (NOx)
PL—&/EE (NO2) 30.303 1.378 — 8.956 3.067 =
EFE
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.004 — 0.009 0.006 &
LA 0.756 0.028 — 0.164 0.074 =
Z/LE (HCI) 0.756 0.058 — 0.141 0.099 s
wAbE (HF) 0.072 0.024 — 0.051 0.032 s
— &b (SO2) 3.789 1.867 — 2.679 2.433 =
—&Ei% (CO) 3.789 0.020 — 0.067 0.045 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.761 — 5.056 3.085 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0052 &
IR R g ) 7.575 x 107 <5.782 x 1010 =




Ve AL RN

EFRAS R RS
2018 &£ 9 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(DA 2.277 0.001 — 0.608 0.027 &
LA i 1.512 0.010 — 0.686 0.078 =
/L4, (HCI) 4,545 0.007 — 0.133 0.075 =
mIbE (HF) 0.306 0.001 — 0.067 0.038 s
— &b (SO2) 15.147 0.171-4.725 1.807 =
—4& kbR (CO) 7.578 0.000 — 0.146 0.044 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.581 —9.608 2.196 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.002 - 0.148 0.032 &
LA 0.756 0.041-0.134 0.080 =
/L4, (HCD 0.756 0.048 — 0.091 0.074 =
wAbE (HF) 0.072 0.026 — 0.043 0.038 s
— &b (SO2) 3.789 1.050 — 2.166 1.769 =
—&Ei% (CO) 3.789 0.014 - 0.072 0.042 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.953 — 3.412 2.160 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 0.0027 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0059 &
IR R g ) 7.575 x 10°° <6.722 x 1010 &
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EFRAS R RS
2018 &£ 9 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 — 0.057 0.004 &
LA i 1.512 0.003 - 0.752 0.075 =
/L&, (HCI) 4,545 0.020 — 0.130 0.079 =
mIbE (HF) 0.306 0.006 — 0.083 0.034 s
—&AERi (SO2) 15.147 0.090 — 6.043 1.742 TE
—4&bi% (CO) 7.578 0.000 — 0.180 0.072 g
HELY (NOx)
DI EE (NO2) 30.303 0.535 — 7.092 1.946 v
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.002 — 0.009 0.004 &
LA 0.756 0.018 — 0.154 0.075 =
/L4, (HCD 0.756 0.050 — 0.109 0.079 =
wAbE (HF) 0.072 0.025 — 0.040 0.034 s
— &b (SO2) 3.789 1.292 —1.998 1.741 =
—&Ei% (CO) 3.789 0.022 -0.113 0.072 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.999 — 3.579 1.944 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 0.0004 =
S SE VAR 0.003789 <0.001 =
R A 0.0378 <0.0047 &
IR R g ) 7.575 x 10°° <5.222 x 1010 &
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